= o
A & 0l & AF 2 E A A
20188 = =0l& LB H FESA W
A 3E2SA
M 21 = Lo - ¥
Sl HEAX A U MEYE HBo CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2SS4 6,248,018 5,230,880 1,017,138
= 506,019
< 116,545
Al 5,625,454
21C 8= x99 - FE 6,177,946 5,178,748 999, 198
= 506,019
< 116,545
Al 5,555,382
FEAX ola & A= FEE0H 489,761 1,034,786 A 545,025
= 3,780
< 10,605
Al 475,376
dEstus 22l 189,800 234,204 AN 44 404
201 et 177,800 185,804 A 8,004
01 At 22l 171,200 179,204 A 8,004
OF=2BusdyH 29 38,160
OZEUEFA A2FHI 14,160
- et 100,000& = 6O + 12 7,200
-EY 220,000& = 9CH = 20K 3,960
-—HEZAEH #HE 750,000& * 404 2 3,000
Ogxt=z 24,000
-SERuU=sdd 2,000,000& = 12& 24,000
OF=Estusul 2 10,000& * 2,000 20,000
OZE WY AH| 220,000 * 123 2,640
Ogel AR FE3uE LA+
80,000& = 8% = 160 102,400
OZ22d ZFE3uE LM
80,000 = 2% = 50 8,000
02 232gHl 6,600 6,600 0
OFEBusdH HIIR=s
550,000& * 1A + 128 6,600
307 21201 A 12,000 12,000 0
05 RIZt2IEt = 12,000 12,000 0
OZEuIE FAUAAY
1,000,000 * 12& 12,000
2308 T2zt S4(BX) 19,832 32,420 A 12,588
= 3,780
< 3,405
Al 12,647
307 21201 A 19,832 32,420 A 12,588
= 3,780
< 3,405
Al 12,647
02 QB AAGFEX 19,832 32,420 A 12,588




A 3E2SA
Hm: 210 M= F Do -BE 7
Sl HEAX A U MEYE HBo CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OdE30g T2 22 24 19,832
(@RiRal:] 15,132,000& = 1H * 104 Ot= 15,132
2 3,780
< 3,405
Al 7,947
OMZHI(EI2Z, aHEEZ)
4,700,000& = 108 Ot= 4,700
2302 2% 243 (XA) 5,400 6,840 A 1,440
301 et a3 5,400 5,400 0
09 EAEHIE &S 5,400 5,400 0
OZFEZs0tls ns & HAEFA 0l
60,0003 * 6H = 103l 3,600
OZF=Zst0ts &AL FIttl
600,000& * 301 Ot ~ 18] 1,800
2302 2% 243 (EX) 24,000 24,000 0
< 7,200
Al 16,800
307 21201 A 24,000 24,000 0
< 7,200
Al 16,800
02 IS AHE L 24,000 24,000 0
O&F=sos 29 2453t
8,000,000& = 304 0Ot 24,000
< 7,200
Al 16,800
FESAIAE 2922 250,729 737,322 A 486,593
201 YEt2 | 192,729 450,338 257,609
01 At 22l 4,800 76,200 A 71,400
OMABEESNE LAE
80,000& = 52 33| 1,200
OMUEEES WS WHHl 1,200& » 3,000% 3,600
02 3323l 187,929 374,138 A 186,209
ONEEBESAIAE FOYO0IE(1E etoldA
) 28,600& * 1,500% 42,900
OB CHIHXIZelAIAE O 0IES(1E 2told A
) 28,4903 » 1,500% 42,735
OsE2erusBatel AlA " 7 X 24t
742,500 « 123 8,910
OAPCAH S X E==Hl 92,000& = 12& 1,104
OUPCXIZI0l €OdlolES (14 2toledA)
22,6002 » 500% 11,300
OMUBERE HHAMAEE
20,000,000& * 13l 20,000
ONHE HioldA8A 2 0E RABI(1E
chol e &) 352,000& * 60X 21,120




B

A ZE a9 (3) - HRAY - By Ol &+ o4 SSa HmEET
OPCE HiOldAA HOH0IE(1E 2tol&dA)
26,000& » 1,500% 39,000
oBet&elE2E HOdolE(14d 2toldA)
860,000& * 1X 860
405 XHoHF S HI 58,000 130,588 AT2,588
01 et ESFH S 58,000 130,588 AT2,588
OMAl &F EXAAE 2H(2HL)
58,000,000& 58,000
AEItss DFH FEMHA WS 2,908,819 2,102,682 806, 137
= 502,239
< 100,000
Al 2,306,580
SHLHR L2 163,440 153,020 10,420
201 Let24d| 162,440 149,860 12,580
01 At 22/l 162,440 149,860 12,580
OSgY=HNI2ES 28t F8 S/W 2038 27
42) 150,000, 000& 150,000
OZ2H 29 JINM ¢
308,000& = 54 » 204 3,080
ORQALZI| LS MHIA CHHE HME
20,000& = 100& 2,000
OZgH 2E& JIAM 2 2,700
Ooger Zgly &Y 220,000& = 504 1,100
OXN&EE ZgHd EH 220,000& = 504 1,100
OZeglZgly ¢ 50,000& = 104 500
OZcoeglH 28 I ¢ 4,660
oced 500,000& * 1K 500
O&H 660,000& = 14 660
OEUHEELNE 1,300,000& * 1Set 1,300
OFMRR(2E) 1,200,000& = 1JH 1,200
OEHAHIAE(2E) 1,000,000& * 14 1,000
203 R =&l 1,000 1,000 0
03 A Z=XH R =AY 1,000 1,000 0
OFEMNHIA 245 R2FA 1,000,000& 1,000
HEHBAAE 2 2 |A2e 1,151,074 1,247,883 296,809
201 et 994,534 1,037,864 A 43,330
01 At 22l 29,000 19,000 10,000
orcd adlole 100,000& * 100CH 10,000
OMNZEE PCLILI S =7
100,000& * 100CH 10,000
OUPSHH Ed 21w &I (250AH-12V)
300,000& = 304 9,000
02 =224l 965,534 1,018,864 A 53,330




AN BESAD
&

M 21 = Lo - ¥
el XSItss 188 F32BMHA M3 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OTLAIAE KX E=H] 815,988
OAM B (35CH) 15,273,000& * 128 183,276
OMEZXI(1404) 8,030,000& = 12& 96,360
OIIEFZHHI (KVM,N/W, 2 OHAHI 821 19CH )
5,111,000& = 12& 61,332
og=28571(40) 415,000& ~ 123 4,980
ORTAHMAZ X (4LH) 869,000&  12& 10,428
OS2EZZH(345) 17,152,000& * 1228 205,824
OUSYr AB2ACIAIAEH
6,442,000& ~ 12& 77,304
OYg=2RANJZE(R2Y,ACE)
8,730,000& = 12& 104,760
OtteEZe el Al AE 1,775,000& = 128 21,300
OQItEX SE2ClAAE
946,000& = 12& 11,352
O&EFA H&H 645,000& = 12& 7,740
OS/We M 2 495,000& = 12& 5,940
OUHEHIISHHEAIAE 444,000& = 12& 5,328
OITRHAH2E 2| Al A B 910,000& = 123 10,920
(OFSPNICIRSIDNESS=] 234,000& = 12& 2,808
OLASEEANAE 528,000& = 123 6,336
OstHE= =08 A 550,000& 550
OMeIE8Z FE(1,78101) 10,450,0008 » 128 125,400
odolM=ZeH 1,838,000 * 128 22,056
O2EAA SRALZI EX U= & A
== 1,540,000& * 13l 1,540
308 XX EHSOIA 156,540 158,019 A 1,479
10 B3I/ 2SO ZAEEALS I 156,540 158,019 AN 1,479
O3sJIgr datEH =X 22l
106,220,000& * 13l 106,220
O3sJIEr Mals+ w22l
15,903,000& * 13l 15,903
OMZ MHAOAZ3 S22l
6,160,000& = 13l 6,160
O=2LtetAlAE S/W KX 22l
28,257,000& = 13l 28,257
NZTHES ZEIIG ALY 25 5,113 5,113 0
= 2,239
Al 2,874
201 L2l 5,113 5,113 0
= 2,239
Al 2,874
01 At 22l 5,113 5,113 0
OLZ&H WM & F2E2HAFFAIY 2lAZ(1
83l & 14-173 &) 1,278,1302 * 43| 5,113




21C =2 x1Do u-d=x ¥
ZIls8 DER HEAHIA S (e9: & 9)
- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
= 2,239
Al 2,874
SHAEMAZEH SSAYFX 569, 192 670,449 A 101,257
401 AIEHIZL 201 Y| 13,192 0 13,192
01 A& H| 13,192 0 13,192
ofRelolagza ) Al 13,192
OB A 11,142,000& = 1CH 11,142
OAFENAL & 2,050,000& = 1CH 2,050
405 XHAHF S HI 556,000 670,449 AN 114,449
01 XAt 2 Z F S| 556,000 670,449 AN 114,449
OR0IALZI| FU(MR)(LLSEA, M
A AH) 25,000,000 = 2CH 50,000
oOgeE MAEY WA 506,000
Ol s FH 1,400,000 * 300CH 420,000
[@OE=x=15 600,000& = 110CH 66,000
O2LH 400,000& = 50CH 20,000
MANME OIS M A} 20,000 0 20,000
308 XX SHHSOIH 20,000 0 20,000
10 B 2SUHUSHEAEAE AT Y| 20,000 0 20,000
OptHE 2ol b AL X (0] 2HE XS XIR&D,
e) 10,000,000& = 13 10,000
OMATNOIBAAMLAIL X (ADIEZRRAS
H,0He2) 10,000,000& = 13 10,000
ESE2Z2Z2EAHNUALMHSH ,000,000 0 1,000,000
= 500,000
o=} 100,000
Al 400,000
308 MXISHMSOIA 900,000 0 900,000
= 400,000
=} 100,000
Al 400,000
10 B 2SUHUSHEAEAE AT Y| 900,000 0 900,000
OJb= M2l LA
900,000,000& = 13 900,000
= 400,000
= 100,000
Al 400,000
403 AIXSHME X201 N 100,000 0 100,000
= 100,000
02 2| 2S0 et 2= EAIS Y 100,000 0 100,000
OFE=Z22EHYHH HAE HIE 2=
100,000,000& = 10 A 100,000
= 100,000
1} ASote EHOIXN 29 588, 149 480,594 107,555




AN BESAD
M 21 = Lo - ¥
& AIYW ASclE SHO0IX 29 (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 il HlnE2
EFA QIHUAAE HEA 2H 588,149 480,594 107,555
201 £B-2d| 455,249 479,694 A24,445
01 At 22l 3,960 48,900 A 44,940
OWAR HOZ Y ARE g
1,980,000& * 23| 3,960
02 =24l 451,289 430,794 20,495
OQHY Zolelzel |XHl 42,0008 * 455 1,890
OAMMIA(TUE) 25 AER
1,200,000 * 23 2,400
OMHMIA(MEE Y HH) 25 AEE
1,100,000 = 13 1,100
O=2XHAIXAEIA 0I2Z
100,000& » 444 « 12& 4,800
OAl EHOIX & =XA=Z=H| 218,964
OWE SHOIX 2 115
4,954,000& ~ 12& 59,448
OMIASHOIX 2 168
5,708,000& = 12& 68,496
OmZelsMolX 258  3,710,000& = 12& 44,520
O+& & S¥HS 475  3,875,000& » 12 46,500
OZHILBAEIA(6F) 1,068,000& * 128 12,816
OZHOIX 28 AZEYAH RAE=H 85,419
OWE EHOIX 2% AZEN(DBMS, Webt
0B, Jeus) 2,449,000& = 12& 29,388
OZMHOIX Jtatst 28 2ZEAN
867,000& * 123 10,404
OSHOIX B &24 255,000& = 12& 3,060
Otbook 2& &=24d 167,000& * 123 2,004
OMdH EotEZ=20 90,000& = 123 1,080
OEZHOIX 5 2UHYE A2ZEHO
130,000& » 12&8 1,560
OANHIA F2t8 5 ZLULIHE AZEO
369,000& = 123 4,428
OEHOIX #HAg2e AZTEQAH(2E)
490,000& = 123 5,880
OZHOIX SAHEA 363,000& * 93 3,267
OZHO0IXl DB =3t 184,000& * 63 1,104
odgZd 203,000& * 123 2,436
OSEEHZAANAY 2H ATEQN(28)
793,000& * 123 9,516
OTZHUHAAY 2 ATEN(2T)
825,000& * 123 9,900
OSHOIX =HUIIAIAE 348,0008 » 48 1,392
OAEHOIX St=R 28 |FXNLE=+H 123,900




22X 38
HE: 210
o

ol AQID 2S5t EHOX 29 EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OEZHOIX MHlAES 22l B (120H)
2,865,000& * 12& 34,380
OBortdHIE 22l (501)
558,000& + 12& 6,696
OMZEEZX(64]) 2,382,000& = 12& 28,584
OUIER A ZHlI(11H) 1,560,000& = 12& 18,720
giatel £ BEotAH|I(120H)
2,649,000& * 12& 31,788
OHI0ol = B =H|(2CH) 311,000 » 12& 3,732
301 dEtE A= 900 900 0
11 IIEtE A2 900 900 0
OSHOIAl AISIEN Al&AZ 900
O1s 200,000& * 1H 200
O2s 100,000& * 29 200
03s 50,000& * 10Y 500
405 XHaHF S| 132,000 0 132,000
01 M =S FSHI 132,000 0 132,000
ORY HEAAX WA L 0z53 =
66,000,000& = 2CH 132,000
HESZSA dE2SH AUHA &3 H2 1,768,217 1,534,386 233,831
< 5,940
Al 1,762,277
HESAMAAE OEN 29 1,687,877 1,493,954 193,923
201 LEt2 Y| 1,637,337 1,390,914 246,423
01 At 22l Yl 21,300 21,000 300
OdHPNG HSFE MU 8,200
OMNOIEHROHHE
2,000& * 1,00008 * 23] 4,000
ORNEHEEHSIHS R
700& = 3,0000H * 23| 4,200
OsHNEdzE RANELEE A2E 2 9,000
OUTP AHOI= 500& * 9,000m 4,500
o=t 2,500& = 1,000m 2,500
OdlE (8L E) 20,000& * 100K 2,000
OMHE M3 FAX A2 R H| 4,100
OEUHIIERIX 220,000& = 504 1,100
OdSES+3D| 30,000& * 10074 3,000
02 332494l 1,616,037 1,369,914 246,123
O=2INEEBS AL 2S5 BOtAIAE KR XH| 24,492
O3t 2 oA (500H) 1,857,000 = 128 22,284
Oogssr 2elMH 184,000& * 12& 2,208
OXNsE SeE2ot 2A2AAE X 22l 84,000
OfIg2e|AlAE 2,102,000& * 12& 25,224




2N BESAD
Hm: 210 M2 DO -BF 7
CPl BIEA FBSA MHIA BF NI ECH-E)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEEEEENES 1,786,0002 * 122 21,432
O Q XFEHAl A & 2,019,002 * 12 24,228
OUEYD HHAID H2EE S
1,093,0002 * 122 13,116
OEEEo 2O2lAAY
1,407,0002 * 122 16,884
0S8 IBSAY ot BHAAE
1,066,0002 * 122 12,792
OAMOIH &S HELFG T208 2 0lS
SXHI(1E 2tol&A) 18,000
OFBAIAE XCH(Secui v1.5)
500,0008 * 128 6,000
Od & (WebScan v1.4)
1,000,0002 * 122 12,000
OFAXE HOotEHl S| 30,2502 *12% 363
OREEM WEHI HH SXS2H| 182,364
o = A 2| 7| (8CH) 3,821,008 * 128 45,852
S5t A A (804)  2,627,0009 * 12 31,524
OL3A 2/ Xl (250H) 1,303,0002 * 122 15,636
OL2A 2| I (2140H) 7,446,002 * 122 89,352
OXRABRIAAE FHHl S L2 1,764
OXt 2 22| At 49,0002 * 122 588
OXt 2l 22l &4l (6CH) 98,0002 * 122 1,176
CUEHUMB DEAAE S &2t 78,336
OF3 WE Al AL 1,337,5002 * 122 16,050
O IPSLII(1,164CH)
4,097,502 * 122 49,170
Oet IPSHeI|(55204) 1,093,008 * 122 13,116
OYASIANAE R B2t
847,008 * 128 10, 164
OFPHFMADI T (20) SX L4
226,008 * 128 2,712
os2ssI|(20) SN2
190,002 * 12 2,280
OUXEZHYANAL X 24|
182,0602 + 12 2,196
OHXBAAAE S &2t
469,902 + 12 5,640
O =FAAE S &2t
139,3302 * 129 1,672
OBA X 4| 47,7802 * 1020 4,874
odsea 321,648
OQIEY #F st 12,000,0008 * 122 144,000
O 3t (QIEY)
40,0008 * 2203/ & * 122 105,600




fAE

MM 21 8=2 DO u-ExF F2&
et BMEZA NPSA MHIA BY M3 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OFo g AN (TE3)
33,000 = H53|H * 12&€ 21,780
OMHTHole A-dHS
17,000€ = 178l = 12&€ 3,468
O3RN 0lsHG
100,000& = 9CH ~ 12€ 10,800
O2XAMHIA Set2te AlIE=
3,000,000 = 12& 36,000
oxE3aHs AMNE2 845,856
OoO=2U&8s3 A 206,400
M3t =2 30,0009 = 34084 « 12€ 122,400
-DNE0OXE 1,000,000& = 33|& * 12&€ 36,000
-Z20=0XE
2,000,000& = 23| = 12& 48,000
OZ2IIEE2ENESESD 549,072
-30M 906,000& * 323/ & x 12&€ 347,904
-4M 338,000& * 2234 « 12€ 89,232
-2M 212,000€ * 443 & * 12€ 111,936
[OLEME=FSE=3-IF 466,000 * 23| & * 12€ 11,184
O HLH A
2,2002 * 33,0003 & « 12& 79,200
401 A2 HIL 2 TH Y| 50,540 50,540 0
01 Al&H| 50,000 50,000 0
OAIL A THEHXIO 2 RUEANHZ2Z2AH(E2H
JAFS A 5,000,000& * 10042 50,000
03 AlE 201 540 540 0
OFRUHEANEZZA 50,000,000& * 1.08% 540
He|lgt 2E4 olmet x4 60,540 40,432 20,108
401 Al HI L 2 THHI 60,540 40,432 20,108
01 Al&EH| 60,000 40,000 20,000
OUE0IsSAlIE B220/00 2 ALY
30,000,000& * 2JH 2 60,000
03 AlE 21| 540 432 108
OZ2320/I0] 25 ALY
60,000,000 * 0.9% 540
HA ZZLOITHOl & RE A 19,800 0 19,800
& 5,940
Al 13,860
201 LBt 9| 19,800 0 19,800
&< 5,940
Al 13,860
02 Z2=2=24%4| 19,800 0 19,800
OHA 222010 & 2EAY
30,000 * 11004 ~ 6¥& 19,800




A 3E2SA
M 21 = Lo - ¥
Sl WHEH FBSH MHA Y M3 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,940
Al 13,860
SO MHIA DHEEE A 423,000 26,300 396,700
2SN pFAYR =A 11,500 12,040 A 540
201 Let24dH] 8,300 8,680 A 380
01 At 22/l 6,300 4,600 1,700
OAEEBA SEFH R===2
1,500,000& * 2= 3,000
osKuA 2= M 3,300
OSAX 300& * 108 = 300% 900
ogsd 1,200& » 28 = 1,000% 2,400
02 =224l 2,000 4,080 A 2,080
OASEZ A SZEH |AHl 2,000,000& 2,000
405 TtabH S 3,200 0 3,200
01 AL EFHSHI 3,200 0 3,200
OFESUISAL AHEXHZ AL EEEH ¢ 3,200
OLhls A=II 1,400,000 * 1CH 1,400
oo =& ZLUIH 900,000& = 2CH 1,800
SOHHEI(ER) HEYR 28 411,500 14,260 397,240
201 Let24d] 9,000 2,260 6,740
01 At 22l 6,600 660 5,940
oOEg 22EFFY(HEe2 S)
3,000,000& = 14 3,000
CEENEXTII=U= 3,600,000& * 1 3,600
02 =224l 2,400 1,600 800
OLEEE MYEEH 800,000& = 3CH 2,400
207 A RO 300,000 0 300,000
02 & &HJH 2 300,000 0 300,000
OEEE &334 NIAANAH HE 2=
300,000,000 * 13l 300,000
405 TtHakH S| 102,500 9,000 93,500
01 AL EFH S 102,500 9,000 93,500
OEEYR =& 2,500
OEE &8 ZHA 8 500,000& * 1CH 500
OEEJJI(aIde, HEISHE)
2,000,000& « 1CH 2,000
Oteg &34 N2ANAE HEEI (00l
) e 100,000,000& * 1M E 100,000
HH2IZH(FESA D) 70,072 52,132 17,940
JlE &3l 70,072 52,132 17,940
JlE&l 70,072 52,132 17,940




EX: AEsSA
MM HM2HAH(HEESA W)
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 29,164 23,092 6,072
01 AP 22| H| 29,164 23,092 6,072
OJlEgessdiasdY (JI=Z4l)
500,0008 » 239 11,500
oZ2gdl (J1=&Hl|)
8,000& * 23¥ * 8% x 128 17,664
202 o4 | 36,708 24,840 11,868
01 2L I 36,708 24,840 11,868
O=2LAHl(21=FHIl)
20,000 = 239 * 8L * 128 * 80% 35,328
OXNBEYERsESA A=K o4d| (20178 X
=1 20,000 * 23% » 3¢ 1,380
203 R F & 4,200 4,200 0
04 FEASHEYFFEH| 4,200 4,200 0
©J|=AH| (252! 0l5}) 350,000 = 128 4,200




